ALL INDIA TRADE TEST - 2024 FOR CRAFSTMEN
TRAINING SCHEME (CTYS)
Trade Name: Electrician
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks : 150

QID Question Body and Alternatives

Trade Theory

1 What electrical quantities are related with the Ohm’s law?

3\ & frgm @ i G fagga kel gefia g

,Al Current, resistance and power
o1, TRy Td wfa

A2 s

~7 Current, voltage and resistivity

YR, dleesl 3R UfeRIehar

A .
i 3 Current, voltage and resistance

YR, dleeol 3R UfeRIY

A4 Voltage, resistance and current density

Fieedl, TfaRIY 3R YRT T

4 T@dc>Thcory
2 ‘What is the ST unit of resistivity?

UfaRIYD T B SI IPTS T 82

Al ohm / cm

ohm/cm

{%2 ohm / cm?
ohm / cm?
‘A3 ohm - metre
ohm - metre
.A4 ohm / metre

ohm / metre

Trade Theory

3 Which is an application of the series circuit?

AR gihe &1 ST 32

:Al Voltmeter connection
FreTHIY PARA

sz Lighting circuits in home
R AR Hlhe

:A3 Shunt resistor in ammeter
THieR B 3 WReR

A4 o .
_~ " Multiplier resistor of a voltmeter

decHie’ BT Hee IR Tfoty

"Marks

2.0

2.0

2.0

Negative
Marks

0.00

0.00




4

Trade Theory

What is the effect of the circuit, if points ‘ab’ are shorted as shown in the figure? 2.0 0.00

g fag <ab &1 ot H TRITT SR WTE B o Sy ot uikuey &1 yuTa om g

SUPPLY

Je [ e

ELN148821

Al .o .
. Circuit resistance will become zero

Wfdhe ufeRIy = g1 wmem

.AZ Same current will flow in all branches I

Tt SrRaTaft # T YRT SR

:A3 Supply voltage will increase in each branch
T a1 B 3yff dieest gg S

:A4 Each branch current is equal to total current

IS AT YRT Hd YRT & SRTSR GRIT

Trade Theory

What is the value of resistance of an open circuit? 2.0 0.00

T% QA Wfdhe & URRIY 1AM 1 32

él Zero

RS

‘AZ Low
HH

,A3 Medium

3%
.A4 Infinity

3fHd

Trade Theory

Which resistor carries the low;s; cur;ent in a parallel circuit having the values of 50€, 220Q, 450Q2 and 560Q if connected with the 2.0 0.00
supply?

T YT F TUFSLET dTBI TT FARIUH 500, 2200, 450Q 3R 560Q F A AT FHHIR Fidhe H T4 HH YRT yared

FRATE?

Al s0q
500

Al

200
220Q
f“ 450 Q
450 Q

A% s60q

560 Q
Trade Theory

What is the unit of capacitance? 2.0 0.00

TR B 3PTS FAT 82
Al Mho

Mho




{\2 Henry

Henry

.A3 Farad

Farad
.A4 Coulomb

Coulomb

Trade Theory
Which factor affects the polarity of the electromagnet?

faggd grad B Yadl &I B T RS THIAT T 32

,Al Length of the coil

IS P THATS
:A2 Direction of current
CINERCR
:A3 Strength of current

BIRCARIESS

A4 Strength of the magnetic field

DY & B e
Trade Theory

‘What is the unit of permeance?

R o1 3018 T2

Al Ampere - turns

Ampere - turns

Al

2 Weber / Ampere turns

Weber / Ampere turns

.A3 Ampere turns / Weber

Ampere turns / Weber

.A4 Weber / Square metre

Weber / Square metre

Trade Theory

Which rule is applied to find tﬂe direction of magnetic fields in a solenoid coil?

oSS Bisd H dudIg &F BIERN F1d B4 & 8 i 91 o ar] far sirar 82

.Al Cork screw rule

Pl T THaH
52 Rightthand palm rule

e g1y @1 gk o1 fem

A?’ Flemings left hand rule

T 1 STt BTy T fRaH

A4 Flemings right hand rule

TR 1 2T g1y T e

Trade Theory

What is the name of the part marked as ‘X’ in B.H curve as shown in the figure?

forr B gIfT S OR B.H 9% & X A ffgd T &1 A Fm B2

2.0

2.0

2.0

2.0

0.00




! Coercivity

fenfean

{\2 Saturation point
wafa fog

‘A3 Flux density

T ¥7cd

{%4 Residual magnetism

AT gadhd

What is the unit of Reluctance?

R o1 318 |1 82

Al
7 Weber / metre?

Weber / metre?

{\2 Weber / metre

Weber / metre

.A3 Ampere turns / Weber

Ampere turns / Weber

4
Ampere turns / metre?

Ampere turns / metre?

Which defines that the flux deins7ny i; always lagging behind the magnetising force?

B T8 TR Bl & {35 Iere UFed U d graeh 1 9 o Ui X8l 82

{%1 Hysteresis.

.A2 Magnetic intensity
I gl

,A3 Magnetic induction
T YR

.A4 Residual magnetism

ARy e

What is the ST unit of Flux density?
T Ued T SI A T 82

,Al Tesla

Tesla

52 Weber

2.0

2.0

2.0




Weber

‘A3 Weber/metre

Weber/metre

.A4 Ampere-turns

Ampere-turns
Trade Theory

Which factor changes the permeability of a material?

S I HRS ol garf &) uRITRId o) Ieadr 82

,Al Length

LIS

{%2 Flux density
TR Ucd
53 Diameter

qg

A4 .
- Cross sectional area

I YRAA §TGA
Trade Theory

What is the effect of inductance if the distance between the turns increases?

e guTal & St 31 g 9 Sl 8 O IRebed BT 31 THIG g

Al

~ " Increases
aa.]

4A2 Decreases

e

A3
~~ Becomes zero

X B SR
A

4 .
. Remains same

REIEEEL
Trade Theory

Which is an application of series circuit?

I fdhe &1 Ui S are?

A

! Fuse in circuit
fthe & wg

52 Voltmeter'eonnection

TeTHICR BRI
{\3 Electrical lamp in homes
R 7 faoreht 1 oy
4 Shunt resistor in ammeter

3fHfieR H T UfeRIys

A

Trade Theory

Which is inversely proportional to the resistance of a conductor?

T} <imerep o TfeRIY 1 S HIUTA T Biell &2

Al Length

{%2 Resistivity

EIGRECI]

2.0

2.0

2.0

2.0

0.00

0.00




20

21

22

20

21

22

{B Temperature

GIEEIE]

A4 .
. Area of cross section

PG YR BT TG
Trade Theory

Which material is the paramagnetic substance?

D 1 UeTd S 1 v 87

Al Water

SN
fu Copper
GIEI
:A3 Bismuth
fowry
fx4 Graphite

Trade Theory

Where the air capacitors are used?

TR HURFR BT IUGNT Pl fbar Sl 82

{M In VHF unit

VHF gfie
.AZ In oscillator

ffRcie
:A3 In loudspeaker

A SH H

A4 . .
- Inradio receiver

e R

Trade Theory

Which is the diamagnetic substance?,

U d ueTd H |1 8?

{%1 Wood

eS|
‘AZ Nickel
[BEY)
:AS Platinum
Wiy
:A4 Manganese
e
Trade Theory

Which electrical quantity is directly proportional to the eddy current?

B W faggd I e 4R & Y rgurfae 2
fxl Voltage

Jees
A2 Current

T

,A3 Frequency

2.0

2.0

2.0

2.0

0.00




srgf

{%4 Resistance

iRy

Trade Theory
23 23 Which property of magnet is illustrated as shown in the figure?

o & R 1 19 |1 TJon gRfa T B2

.Al Directive property
ECRICE ot

.AZ Induction property
RO IO

.AS Saturation property
qq W ot

54 Poles existing property

84d faraE o7

Trade Theory

24 24 Which is a paramagnetic substance?

DI 1 refdaag ugrd 82

,Al Air

Trade Theory
25 25

e WM foe AR ¥ faggd 4Ry w4 yared gefte

.Al In balanced,condition

Jgferd fufa &
52 T unbalanced condition
sregford fRufa o

A?’ In short- circuited condition

e -wfde fRufa #
A4 In open- circuited condition

y-Hfdbe Rufer &

Trade Theory

26 26 What is the reading of the galvanometer in wheat stone bridge at balanced condition?

Fiew foet # U o Rufd & iy ot g s g2

Al High deflection

I fagur

When the no current:Will flow,through the galvanometer in the wheat stone bridge?

2.0

2.0

2.0

2.0

0.00




{\2 Low deflection

o4 fagoo

‘A3 Nill deflection

T g
{%4 Oscillate

fpere

Trade Theory

What is the change of resistance value of the conductor as its diameter is doubled?

SHSaeR BI R ST B TR IHb U1 A1 & o uRaed ghell 87
él Increases to two times
AT A G S §
:A2 Decreases to four times
IR AT I U W1 8
:A3 Decrease to half of the value
1T TP FH I STl o

.A4 No change in value of resistance

TRy & T A H1S uRad el giar

Trade Theory

Calculate the resistance value of the resistor by colour coding method.

[T R A gRT UfeRIee & UfeRiY A & 0T B |

D osx 103 Qs 5%
23x10° Q+5%
fu 26x 10 Q+10%
26x 103 Q + 10%
:A3 32x10*Q+10%
32x 104 Q + 10%
f\4 37x 10* Q&5%

37 x 10%Q ®=5%

Trade Theory

Why.théohmmeter is graduated with non-linear scale?

SR B R X T & ATy ol v v o &2

o OHME 0 OHWS

EL111822

A

1 L . .
Voltage is directly proportional to resistance

Jreesl Uiy & FHIIS BiaT &

52 Current is inversely proportional to resistance

e UIRYY b FPHIU! Bl &
A

R 3 Resistance is inversely proportional to the square of current

2.0

2.0

2.0




30

31

32

30

31

32

TfRYY Bie 3 atf P SepHIGUI ElaT e

A4

. Voltage is directly proportional to the square of the current

IS BT & Tl b WY ST BIell &

Calculate the value of resistance by colour coding method.

T e [l & gRT wfeRiy &1 319 S5y

Trade Theory

ELN140731

Al

22 x 103 + 10%
22 x 103+ 10%
A2

T 23x10% £ 10%

23 x 10% + 10%
A3

25x 103+ 5%
25x 103 +5%
Ad

o 36x100+£5%

36 x 104+ 5%

What is the name of the resistor if its resistance value increase with increase"instemperature?

e qToH H gie & T UfRIe BT UfRiY HIF 96aT § o WicRId ST o 82

! Varistors

{\2 Sensistors
IR

,A3 Thermistors

uffeer

.A4 Light Dependent Resistor (LDR)

ge fetise YRR (LDR)

Trade Theoryy,

N Trade Theory
What isthe,yoltage drop in resistor ‘R,’ in the series circuit?
TR Ffthe H Uikl 'R, H diees STT T 82
Ri 10081 Rzmnﬂ
l T | IS
-1
| =V
—<
L ]
{M 5 Volt
5 Volt
{%2 10 Volt
10 Volt
53 15 Volt
15 Volt

A% 20 Volt

2.0

2.0

2.0

0.00

0.00




33

34

35

36

33

34

35

36

20 Volt
Trade Theory

Which method is used for measuring 1 Ohm to 1 megohm range resistance?

1 3 | AMEH IS UfeRIY 1 AT & forg fop fafty o1 SuinT fopar s 82

Al Substitution method

yfaeimoe fafer

{\2 Kelvin bridge method

Biea ot fafy

‘A3 Wheat stone bridge method

e fow fafy

{%4 Voltmeter and ammeter method

dieeHieR 3R THieR fafy

Trade Theory

What is the purpose of the shunt resistor ‘R,’ used in series type Ohm meter circuit?

Uit YHR 31 Hiex Tfhe & yged e Uiy R, BT ST FATR?

e ——
Ry A

UNKNCWH
Rm(/)’“ Rz Rx| | RESISTOR

E B

s
A
SERIES TYPE OHMMETER

EL111821

AL 15 limit the cuprelIIHe Citeuit

Hide H e &I Afid F31 & g

A2 . .
7 To increase the value of meter resistance

ez ufeRiY &7 911 SeH & faw

{B To adjust the zero position of the pointer

R 31 I R o THRIRTT B hiferg

‘A4 To prevent the excess current in the'eircuit

lehe § 3afiies Bie Bl b B.fo

Trade Theory

Which electrical quantity, causes for the heat generation in a conductor?

1 ¥ fggd TR e § S I B BT SR S 22
él Voltage
dleay]
fu Square of the current
R 1 7
:A3 Square of the resistance
TfeRYY BT ol

{%4 Square of the voltage

dlees BT aIf

Trade Theory

What is the change in value of resistance of the conductor, if its cross section area is doubled?

Tfe ot ATee BT YR HTC AHE GRIAT HR T Y df IS UfaRly & 7 & a1 uRacd grm?

{M No change

CIERICREEG]

A2 .
.~ Decreases 2 times

2.0

2.0

2.0

0.00




37

38

39

37

38

39

2T g

{B Increases 2 times

2T TG ?
{%4 Decreases 4 times
4T e
Trade Theory
What is the resistance of Light Dependent Resistor (LDR), if the intensity of light is increased? 2.0

Ife gHTe1 B1 el g7 < ST ot UhTRr ST UfeRiYe (LDR) T UfeRly &1 ghm?

Al

~ Increases
Sqal®

‘AZ Decreases

uedry

A3 . ‘
-7 Remains same I

CHEESIK

{%4 Becomes infinity

KECKICINIE
Trade Theory

Calculate the total capacitance value in the circuit. 2.0

Fithe § ot HURIY A 1 TOAT B

6 uF
53 30 pF
30 uF
‘A4 70 pE
70 uF
Workshop Calculation and Science

What is the value for specific heat of water? 2.0

T Y AR SeT BT HE S B2

Aly
4
A2 3
3
A3,
2
Ay

1

0.00




Workshop Calculation and Science

What is the boiling point of water? 2.0
I T A T BT 82

Al 0°C
0°C
{\2 32°C

32°C
{%3 100°C
100°C

A4
. 212°C

212°C
Workshop Calculation and Science

What is the side of a square whose area is 625mm?>? i

e oif Bl HoiT o B, ForrebT et 625 farei2 @2

.Al 15 mm

15 mm

52 20 mm

20 mm

A?’ 25 mm

25 mm

A

4 30 mm

30 mm
‘Workshop (;alczllatiorT_ and Science

What is the perimeter of a rectangle whose length and breadth’are'20 em'and 18 cm? 2.0

e AT T URHTT T 81T, ! oS Ud disTs 20 T 9 18 AL 82

A

! 56 cm

56 cm

.AZ 66 cm

66 cm

A?’ 76 cm

76 cm
A% g6 em

86 em

Workshop Calculation and Science

Which is example for first order lever? 2.0

ISR TR & foTT -1 IaTe0 82

.Al A wheel barrow

% e SRy

‘AZ A pair of scissors

o 1 T TR
:A3 Fire tongs

BRR <Y
:A4 Lime squeezer

KIECESSION

Workshop Calculation and Science

Which is example for second order lever? 2.0




ol il ofieR 1 HH-T1 SRR &7

A

! Common balance
B S

.AZ A pair of scissors

o &1 T TR

‘A3 Bottle opener

CISEEIEEN
.A4 Human forearm

BYHA BRSHH
Engineering Drawing
45 45 Identify the name of tool?
JUSHRYT BT H Ug?

I

|
0

EDNG1 812008

! Try square
g3 B I
52 Surface gauge

g 19 &1 T
Al

3 Steel rule
EaEd

.A4 Feeler gauge

BIeR el
Engineering Drawing
46 46 Identify the name of tool?
JUHRUT BT ATH Ugr?

EDMNGH i 20,08

‘Al Ball pein hammer

fe i 3R

:A2 Cross pein hammer
I 0 gIR

:A3 Straight pein hammer

Y d gdrer

.A4 Sledge hammer

WIS g

Engineering Drawing

47 47 Identify the name of tool?




JUHRUT BT ATH TgaT?

{

Al Hawk-billed shear

HEARCRIRH
:AZ Aviation shear

IgIA HaA
:A3 Cutting plier

CACECINISNG

4A4 Double cutting shear

T PIeA HARAT
Engineering Drawing
Identify the name of tool?

JUHRUT T 1 TgT?

EDHE1 312011

AI Ball pein hammer

il d1H 87 R

.AZ Mallet

RESIEEIS)

:A3 Cross pein hammer
B 0 gIR

:A4 Staright pein hammer

et

Engineering Drawing

Identify tggname of tool?
JURRY] BT ATH Ugam?

EDHG1312012

! Open end spanner
S T8 TR
52 Ring spanner

e g

A3 Combination spanner




BRICERSEN
4 Adjustable spanner

AT 3SR

A

Engineering Drawing

50 50 Which dimension correctly marked in the circle as per standard? 2.0

TS & SR Yool B B 7 31T 81 &1 9 fafga 2

Al

A2

50

A3

1 @50
A4

230

Employability Skills

51 51 Which one gfaqe Eoll;wing is a good office etiquette?

Frefitad §8a 91 U 3T sy RITER 82

2.0

AI One should dress formally

TP Pl NUEIRS Y I UIRND T 18T

‘AZ One should not be punctual to work

BT & 7T Y &1 UTeie el g ey

3 One should have fancy mobile ring tone

T & U Tl Hiared 1 e g age

4 One should litter one’s work place

T BT 30 BT P VI R BT ST MY

A

A

Employability Skills

52 52 Word that is pronounced the same as another word but differs in meaning is called 2.0

I8 Teg St fb et gER Weq & THM Biam ©, Al orf & i g g, R EIIRSIGIN




{M homophone
homograph
diphthong
YT TR

syllable

A2
A3

A4

BICARY
Employability Skills
can help me learn English. 2.0

T ol Ui W e BR gadT g

.Al dedication I

ﬁ'gT 1"

‘AZ fear

A3
.~ anger
Eat]
{%4 shyness

T

Employability Skills

Which punctuation mark should be used in the following sentence? 2.0
Is there any site engineer here

ﬁaﬁn‘@?{ I ¥ fopg faRm ﬁlﬁ' T TINT far ST ?IT%'Q? Is there.anyssite engineer here

! ? (question mark)

? (question mark)
.A2 , (comma)
, (comma)
53 . (full stop)
. (full stop)
{%4 ! (exclamation)

! (exclamation)

Employability Skills

When is capital letterused? 2.0

TS ERB] YA e fbaT STl 32

{U Beginning of a sentence

& a1 B B3

.A2 Names of persons

Hfdadl & 99

‘A3 Names of places

®EF T

.A4 All the above

GERIICTN
Employability Skills

Which one of the following is a describing word? 2.0

Fofafed # 3§ SH-91 T qui-res e 82

{M eat




QETE

2 .
repair

.A3 hot

4
soup

Employability Skills

When someone says 'Thank you' we should reply and say 2.0

ST9 B1S 'Thank you (Y-IAIS) HEdT & dl 84 SaTs T A18Y FHe Ayl

{M Thank you.

RilER]

.A2 You're welcome. it

3MYHT WHT §

‘A3 Bye-bye

CIES I
.A4 How are you?

3T HY §?
Employability Skills
Choose the odd word. 2.0

odd (™) 21eg I

Al
_ please

please

A2
.7 sorry

sorry
A3
. paper
paper
.A4 thanks
thanks

Employability Skills

I am a welder. I work.with 2.0

H s IR gl # ﬁa‘m‘gﬁ

Al nail polish

+d uiferr
2 robots
{- a- E--
3 .
welding tools
AT JuHT
.A4 laptops
quera
Employability Skills
Today's weather is going to be . 2.0

TSl 1 e EREIEEK]
él Hopeful

s




61

62

63

64

61

62

63

64

.A3 Blue

e
{%4 Urgent

g SRt

The word 'when' denotes

e 'when (SF)'

Al
place

/A
.AZ thing
ELS)

3
person

SHfR

.A4 time

qqgq

Rahul enjoys

A BT U UTeA Hl

1 .
playing
e

2 .
writing
ferem

,A3 doing
Cal

4 .
washing

yam

Having a clear idea of our personality including strengths, weaknesses, thoughts, beliefs, motivation, values etc is called

mmmww@ﬁwmmﬁmwwmmﬁ EHEEIGI]

Al Belief

fasry
:A2 Self Awareness
STH SRS h T
A5 iy
o

4 Threat

TP

A

are the abilities and qualities you have as a person that helps you grow well in life and career.

T e & U B 39 U HIe[G &N 3R 01 § S 30! Siia 3iR BiRaR & 3t ave d 96+ § Hag

AT
AI Personal Strengths

G drd

Employability Skills

PraTiare

Employability Skills
with his pet dog.
F H ST ST B

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00




fu Personal weaknesses
EESURER TR
:A3 Opportunities
A%

{%4 Threats

P

Employability Skills

are the qualities that are considered negative, and need to be worked on.

T 07 8 R TR RIS | STl & 3R 5 TR 78 &1 1 3Taegehai 3|

{M Personal Strengths

I ESURESIE]

A2
.~ Personal weaknesses

T HHSIRAT
Al

3 Opportunities
A%

.A4 Threats

P

Employability Skills

Which of the following is an example of personal weakness?

IFITTA HASIRI BT Il FHuffad § ¥ 19 1@ 22

A

! Confidence

ST
:A2 Being lazy
TR T

,A3 Hard working

.A4 Active
feba

Goals are of 2 types
&I 2 UHR & B &

{M Good and, bad goals
IS ARP T
.A2 Tong-term and short-term goals

AP 3R 3rcTsbIicis dad

,A3 Rich and poor goals

3R IR e agg

.A4 Fixed-term and non-fixed term goals

fRf2ra arafdr ik R-FAf3a srafdr & dea

What is stress?
a1 82

,Al Feeling of joy
SfTie B orgrfa

.AZ Feeling of surprise

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0




3imed Y srgyfa

{%3 Feeling of delight
3T 3 P
A4 . . . .
. Feeling of frustration / disappointment

foRm=T / fARTRm @t yreT

Employability Skills
69 69 Which of these is a sign of good stress?

35 TT9 BT Tobd 5780 I DI T2

AI It prevents you from pursuing your goals.

g TUD 3T &T BT RT R J Apar B

‘AZ It makes you doubt yourself.

TE 3ATUH Y& TR IH P 5

.A3 Does not lead to long-term tension, loss of sleep.

LEREREEAE GRS e BRI
{%4 Makes you physically ill or causes pain.

310! RIS 0 J SHR ST § T €S BT SR ST |

Employability Skills

70 70 An activity that stops or reduces stress is called a stress buster. Which of the following according to you is not a stress buster?

TS TR S TH1G B At § AT HH BT § S W TR HgT I 81 3 SR Faffed 5 3 $H U €I axeR T8

)

! Spending long hours thinking about the problem.

S g b FHAT & §R H G 1
2

:A Going to bed on time.
Y W &R &1
fw Listening to music.
ARG Skl
:A4 Gardening
CIIEIE]
Employability Skills

71 71 What is mindfulness?

AESHa F1 87

Al It is the techniqué of not minding anything.

78 PR ifh<livl R & 733 B a1 3|

{%2 It is about sharpening your brain.

FBHTID [GHIT B ool 3 b IR A G|

‘A3 It is the ability to be fully present in a moment.

Ig T ol & Ot oRE | SRR 9 B & 31

{%4 It is the word used to describe people who are full of thoughts.

Tg I AT T quiF A P FIT ST o o AT Wsg & o Rl 9 W gu R
Employability Skills
7272 | Which of the following is true about stress?

T & R H Fe Fafiied # 4 B A e

A

! Stress can be managed

EICEARCICGAC RIS RICa K

.AZ Stress cannot be controlled

q1a Bl ifad =151 fosa S waman




73

74

75

73

74

75

{B Stress can not be decreased

T1a S e 81wl

‘A4 All of the above

SRS Tt
Employability Skills

Which of the following statements is true?

fufafad 7 3 o9 4 aqod AR 9 &2

Al Only experts can solve any problem

ot oft e 1 T Haet ARTT € R TH §
fu The more problems you solve, the better you will get at problem solving!

37 Frert 3ffRies Trraali B G B, GHE & oz | 317 I € Sgar gl
:A3 We need to pursue a course to even solve a simple problem

T U WIYRY TR B 59 H & g ft T I 2 Y sfrawaeba 8
fx4 It is not important to solve any problem

Tt ot e T Ty o A
Employability Skills

Which of these should be considered while making decisions?

iy od g 399 9 for R TR foran o =nfew?

{M Your mood

GEENEEEIE)

.A2 The choices of your friends

3P SRl DI THG

‘A3 The rules of your community

31U GHG & Fam
.A4 Your personal priorities.

3T AfaITd UTUfHear|
Employability Skills

Which of these is the full form of SWOT?

TH Y PHH SWOT BT Ul =4 79

{%1 Special Wellness Organization Theme
Special Wellnéss Organization Theme

A2

-~ Speak Work Openly Together
Speak'Work:Openly Together

A3 .

~_Strong World Olympic Team
Strong World Olympic Team

A4 .

. Strength Weakness Opportunity Threat

Strength Weakness Opportunity Threat

2.0

2.0

2.0

0.00
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S.No. Correct Answer Key S.No. Correct Answer Key
1 A3 39 A4
2 A3 40 A3
3 A4 41 A3
4 A1 42 A3
5 A4 43 A2
6 A4 44 A3
7 A3 45 A1
8 A2 46 A1
9 A2 47 A3
10 A2 48 A2
11 A1 49 Ad
12 A3 50 A2
13 A1 51 A1l
14 A1 52 A1
15 A2 53 A1
16 A2 54 A1
17 A1 55 A4
18 A4 56 A3
19 A2 57 A2

20 A4 58 A3
21 A1 59 A3
22 A3 60 A2
23 A1 61 A4
24 A1 62 A1
25 A1 63 A2
26 A3 64 A1
27 A2 65 A2
28 A2 66 A2
29 A2 67 A2
30 A3 68 A4
31 A2 69 A3
32 A2 70 A1
33 A3 71 A3
34 A3 72 A1
35 A2 73 A2
36 A2 74 A4
37 A2 75 A4
38 A2

Note:

"In case answers found to be inaccurate due to typographical error or any
other reason please sent mail to gbnimigrievance@gmail.com"
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